/dndai]

=

[ p

Ratio to ATLAS

2.2

1.8
1.6
1.4

1.2

0.8
0.6
0.4

0.2

0.5

Underlying Event

7QOO Ge\( pp

<

-

B ATLAS

[]

1 ' T T T
> density wrt@ of leading track(|n| < 2.5, p.>05GeV,p >2G

--H3-- Herwig 7.0.3 default
—a— Pythia 8.108.p1 default
----- ¢ Sherpa 2.1.1 default

& 1]

Rivet 3.1.0, = 7.2M events

A

—Egell

— “mell

- MG

— EEEET

- ¢

u i“uuuuaa&ﬂ%%&%%

I T PO R T SR (N RO S RPN A RN NN SR SRR AR

:l T T T T | T T T T | T T T T |

[ A AAAALLL, AAAAA

- b ees L L e T e Ay
¥ n'nnnnnn"n“nwnwnan__!!2312;;;;,0900

L
i
<+
S =
- -in
I
Lol III|III|III|IIITIFIII|III|III|III|III|III|III|I

left|gright| (w.r.t. leading track) [rad]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


